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Tfttr6r rrdnfr{' 1{.6ryfi

MATHEMATICS

(Punjabi, Ilindi and English Versions)

(Morning $ession)

Time allowed: Three ltours Maximurrr marks: B0

{Punjnbi }'ersion}

gz : (i) lt{q$ W-ffi E 
"dc?r 

fE '? f€H,-*s/e$-S-r €tl .ta8 & frP'A-/&rd-ii3

0,t/C rerd gd-# a-e r? t

(ii) W-ffi #S d fs?r A ?tE fua a ev sF fr &F tra z-eW xbE z0 ti$ aE

b$ *a {Hs,a rd ,

\ fiiil gga-ifsd tra ia6? tiff/u* drc- f Elp,rE if'Jr d'3 m$ qxrlqqm rr lrslaa Eutr'
\ ---.r- -----'*- t' f3t ;r*rn I

(ir,1 rd' Wrir ryEt v5 t

(t) rritr sr& q5i-5 €s' fiira' n''a b$ W? fg3' a€' )wi hffir€ efsrfr3 ffi W
EE€ t

{t i) arr*-lisa qd-*r a-o-a- v? a'fw'{' a-at i I

(t,ii) ;Ldffi nf prrr ?a-dr-r fsa' Suafe f S ErS ne- i

(t,iii) YI?s' *ffi I :f. S fr rfrs l-l ',ftr sE an 9 :f 16 fr a?a 34 M flS 
'1E.

iZ y 2,1 fa aAq 4-1,,?ar flE t6 t 25 .f 23 5r iie{ qxs 6 ffi w S 
"f3

ffi ffi'qn6r tra @ f-e A I ffi tra- {Hir;iu-a lg,2l'25' 26'?7 t't? zg

Fdr,?gar?gail
(ix) qfa &rd qrm'-rba el'g #fu'hrr S t

srgrr&

r. HdB?o"!€:

b6q f€h{q R €.& fd-d" t €tr }mIr ftr,"flrfi t-g e' trda?r ffrrcr Aa po A, A6 fu*

ur6rq t :

P *nK
lB0

P H2xR:
720

I

[Trut over

(a) P * 2nR
r80

(c) P x 2nR
360

04/c-x

(b)

(d)
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{2)

2. i-6 fsfw?r ffiA' ffi frfu,{r frfr' uraa, et fEr€sr ?r# i lrd-$ ?

(a) * (b) -l,5 (c) l5o/o (d) 0.7 I

ffit
ftirg1 frqrr Brdi I

{x$/ffirs firu) I

(wS wrd B"a) I

3. u-d ffi.a Eril *firlrr 6 hrg"f, Hfir,fl€t t q"c6*d-s t gu 'frT e-dmrlebr {q""c6*r6) ;p p-6a, fr r

{rro1/mg-s fss) I

A.p: *5,*1,3,7. qt ufim5r UE a )r{t ErSf }&A.d rrS {A I I

HA *" fdfia' q' 1ilr'kr6 rrs a-ss tr$ gra M' I I

4,

5.

6,

7.

8.

fr-q-d ffi f€r er t-sa6-sr 0 E.firr M}r1f 3, sr ffi' fru6

sin (A +B) = sinA +sinB

t ru"tre E' eS -uE affi? im I

9.

I0.

8,1:8
3'I-dI-?rf

f-f,d fr-d fifrg p S O t-ss er8 ffi Sa6 '? PA, PB rrudr Atr.sr b&rfi ffs 80" e Ad
'3 y6fr'{f ie gl ZYOA ll-sr aA | 2

ffia d,A ? A'it brfircr rnln t fmn' t B r*rat €" td lat$ )f;trd rrrkE .rr :

EEgEHE
'trH' u'* 0 8d €ra Efatr' fiie' * M q1 frs€?rr A f{

2(i) A rfltrs aC

(ii) D lrus ae I

ll. 420 rrr3 ljo e,r H.H'.€. (H.C.F.) Uafua ea rMfsqx er qfr'or a-s fr' rry aB t 2

12, tul EISEa-d fr-g 2x+33,:11 'rfg 2x-4,y=*24 E i'g aA I 2'

13. f{H' trw's gh{Tg' l0 fqFre fu frB'rre Ee M. d frftpr{i t6 ffi ,,rgre i ,

2645021323
M daft?rti €r seg-{ lJy {A | 2

14. e uS fir-d-6r Sl?ri ffih{T 6m ur3 I lrn T6 x.B ed HHrrs pf i u{ us I l-d-d ffi
t td& fi{fdb{i t ffi d l2nr frt 3T @' t .srde fiqfd},{i t 1M E'd

uyaBl
04/c-x
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15.

r6.

(3)

€ uqi H'ffiaa-c 2xr*6x*i=0 e UE e ffiq")fi'&" rrr. qS r,{3 fe-d ffi yrr d {ffi
2g u{fr .sT€ 

I

WuE p(x)=n'-3x'+5x-3 6 WU? g(x)=*'-2 6rS glsi a-r& srylrs aE wa1 rrsr

a'A I 2.

8*2=16

g'dl-g

t7, fr1fl6 t Fd & f * Htdrr t rrrrqra frE f 30m et gS'? *. xtn a g ftw s ffgre

A"s 30" t t *s.s E1 ffi rry at I

t8. fua €s. OACB tr6 O ),t3 rrratr fpa{rn 3.5 cm ee fra 6-a-o s €w gryr i I Ard

OD = 2 cm i€ 3T td fsfurt' g tr6gn urr ai' I

(i) ffi'OACB

(ii) ffis Ewr

19. fiiq' aB fa {'.dg e Er6-6S wB €ir$ tel agr-ff etryi qugt-H'ilHt dui 3l-#€i ffq-d '3

ELtoa 6g ser0ebrr .rs I

trd f€fr ABC ffrHE da C Ertrd 3, qlur gtrqi CA bri CB

E H'frs 6t6 I

ffi"q ad fu : AE:+BD:=AB:+DE: A

'3 qHe'o frg D br3

20. fra tel ?E-e €-d M e srbr )rB lf{-S fr-r t1'tr nfi3 ,fu s i"5 30 * I *{s eH6

arfus ffiu Z d|a tq rn6 r&{-fr fre s b?-{ uia fi{& gg BT ffi dBi s ![-dt?r6s 210

{€r I €x e"r's' €f, fehh{i €v qnrr uiE usr art I 4

A

D

04/c-x [Tunr over
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(4)

AACB $g ffrEer a-s C H1{.&-{ t fmTT fris ,qe = 39 fsq,s}rsi'

IABC=0 {t& ffus} t :r sirt:$+cosrO e' frs ur q} I

BC : 21 1*me'ttlT 'rA21.

21
--ri.tlt

11

23.

ffiqaA:

I +secA_ _ sin'A.. ffi A.{ A. ff{ ftg6 A-€ i I 4

secA I * cosA

fr.a e.rr. ft.s SO uE A6, firr gr *rro rre l? t ?E )*fu ire 106 e t fes e 29et

rre rrs, a3 t 4

*.trd A )ri3 B aprera (*2, *2) )1f3 (2, *4} 4"5 3T fiE P t ffiE r*a rrs' a's gr fd

AP = * en a.e '{3 P Adrtl-s AB '3 Hks i}e I 4

I

g s,u 1,{fir fr.lrr''!{ er F{ taa ffitr I Ae.d s l0 cm go rks fra i*g 3 tTd 'g mfdH

?u'€i e ffi 11 a-rrr q.a h'f3 gfl el",rrr da,et'{r }rrt ' *,+=ll
grdF}{

fr$. r$ i*-,,. rrraat fea€ t Td €du, *'sg'frt gwar B{ 6il' *ffisH'es qa" fu frs
Earsth{i tsrel}r{i # g san'€-e1 i,

Etdb{i ilel,rti tr E*Erfit 
"1 

frftP{t

3000*4000 4

4000 - 5000 r8

5000*6000 9

6000-7000 7

?000 - 8000 6

8000 - 9000 J

9000 * 10000 I

10000* 1 1000 I

ffi )riAftir.r 
"r 

EqTm' U:fr AA I

04lc-x

24.

,{
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t5)

;{r

t-6 tr3r *$ ffi fq711fr t 60 )rfrE3i d ttr6i x.{'}rr6 effire? A :

nil?r l,rq"rgd' (f fr€^) 100- 120 I?0* I40 140* 160 16S* 180 180-200

HirEat d' frful,l' t2 14 I 5 t0

'€uAa-$ ets € tr-d rire qqrf,' e ffi Erdgr-sir €s trU E-{15 h{3 8x e' 3*ft-frfi I 6

26. 3 m fetrl'fn' tr tra yd 14 ur e1 
"lfu.d 

{Auftt) t.a ,Ufarr' ilre. t I fgn' tr€- firdrfi AS

fid g W t B'* ulfr 4 ur dxl tra' €-ds'd'd sps (riug) Ee"_Q-g 3S, xrnr g'u ?r{,

As' A trc qau g,' f6 EErfulr ;{Te' 3 r fsx €6 d ryd rrs" q'8 I 6

iTr

tra gx fi1ice) €vs ew' )r{'u8 a,fd-dT q f$3ts Es fu*'g fsrs'rr 6ry gH fse S I

*rcra.o fr"rs'H e, ,fEErfr f#?lrx 5 cnr ffi, utsg frTs.tr ? m },{nqq {yg') Bg fta Sgforr

ifur{' rrrw fr-g' fr, frH a's fgtsrx d ire-a }Tt{5q' drg u mrel * | ttrd F{ fr'rsq

d €ffi l0 cm S, :l f{r6'H d lre-ETHt (apparent) uroa H$dEr b{3 W rllffi' xxde'

us'aa I {a:3.1448} | 6

27. ftrd ffi f€r fs ft-d Eir Er sfirT, Efiatrti € BiTrer t se-sr € trs t vsqs d'e sr

uftIst ga' t H'uHA s'er a-e, Til-nia Us S I fT{q tra I 6

iTr

E ilat fiig 3- f-da '3 tr&rit 
"tgb{r 

ru€TI &J'€r etb{t ffifli adrEro d"hti UF I

ffiqaill 6

28. fl.drd fafr fB6 t ,,ilr ,'i3 ird tar ffs : fr'{ Ffl ;r€ :r fso fi f, il1"1 t r t'q-o ria

ry3rrstrBs'3 triFr,'a€s'fro t smid't lfuJtiarig'a* I 6
o

04/c-x [Trunover
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(6)

il

HhftA--d'dT x*y+ l=0 irr3 3x+2y* l2=0 er 3fd fvff t *,g& d ffi aw€i 6ry Ya

k.5 * ff{t{ai g ffi rrta us' aA )r1} fqg:{ }frary 8 6rfut{r-x}f€ (shade) a8 I 6
4"6*24

(Hindi Version)

dr : (i) -?ir* ,3y-rgefrwr * gw yry q{ &qq-6irzfo"r*3?s qry-d Gr+ f frryq-ryTettqr-d€ 0,1/C

sffiPq frd/
(ii) sm,Jfffirdf *gp*y'r FTvw As #ft$?r{ er'$sir wfrt zo yw #qry fi# mq i *r
(iii) irtgfrile., t sTfr s?.t ,rt yw@ # qryqr{ ffi fuq w wq/sqfi ryI ftr/T-{ qfr W wAqT t

{it) rf sTr qgqr{ €t

(,r.) wqr qd' seq t $rta-{ ww * rq7 Pq qg qvq * wier,.iryF? W sM S ffnf I

(ti) qqryi* * s*rt *? "rryq6 
qE $t

fi,ii) .;rnTf, r.sf n'dfr er# fu er*erq rt drT d r

(riii) sqt*$wtt f s wn*q t-t arqf,da 9 #16 ffis&q2-2 aidarddw 17 f 24 w
s*q l-+ ffi qr*ma Er 25 A 2S ry rfrq A $q w i rrn $rf utt sqfi *,,rquf rr *r
$rf d' scE (iwr I9,21, 23,26,27 3*T 2s f e?rf,frry Y *t

(x) stw *w Yfi-w * wrq wf &r

r{Ft-s

l, * rr& rtn g$i< :

krqr R q* W * utq Fr*qrais ry *xm Fry$r *q p' $, prrqfrfuf, p :

(a) P x2rR (b) *[**nP'\"" l8o - l8o

{c) P x2nR (d) *-2nR: I\-/ 
360 

" -"" 7?a

2. ffief, t fr *a $ fisr Fnr* q-cff dt qrk'*f,T *rfr fr qmfr ,

1(a) t (t)) *1.5 (c) 1se6 (d) 0.7 I

s. sr#{ qrdq {iqr * s{qrq ri@TC * g'r;rw * ol { aum (glmdBr) fuqr qr u-*n * r

(rr&zwo ftra) I

0dlc-x j' '
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(7)

sr srlq w a .i*'{ flri '3t-dr cl mra qfrhq 
rd.

s.

?,

8.

{iU * &ffi sr '$?m{ rnr q'S fr frq q'* frke r

qft ffi tsW ar 6H+m o qr*q fr, nJ firS qtd

sin (e + B) = sinA + sirrB

qrr _ * egve d tks qgq-d fiaA B I

aJt r

I

I

(nm rqiq qt I

ffiz.rrm ffi) I

(ftm wrry qt) I

' Sx l*8
slrrr-Et

9. qfr lrs n'€ P fr o *fr mfr ffir fd rr PA, PB tq!.t tqr{ y{$rt s0'* d"r q'{ flfr fr, al z po,q

mr qm m"s q{ifrq r

10. lFr {S * qnr tfir d'ff B ffi s, wS crr ffika 31am &ifitd B ,

EEHMHE
ei'{ qrfr d qs qn try qrdl t r qs-fr wr Nkonl ? fu

(i) e sTq fr

(ii) D srn frr

IL 420 effr 130 ry (H.C.F.) ffis Epil':{ qetfttq ffi qfrq r,r* m"a frFn r

!2, tks{ft-fiqTq 2x*3y=11, 2x*4y=-?4 *amfr&qr

13. frffi tffiq Eru t0 ffir*e E* t frq'rq fr*fr qfr dqd ffitu* * :

2643021323
qr o{iwl sr {gfi?s m-n.dfrq t 2

14, ql dttrfidf W 6m etr llnr Bae{rtqrrtrf,1hws?trqlEilTfrqr'fr*{iq.drgfr tzm

A n] fl* sqft frrfr * fiq fr {ft srn *&qr ?

lS. kq1 n*'s{q Zx2- 6x + 3 = 0 mr frfrmq'{ sm *&q atl e'T fir+ gnT dr stB xra dtxr r 3

ld. qgq{ p(*)=x}*3xr+5x*3 m ague g(x):x:-2 frqqdfrru$tiqnrrmnqr qlqry,mf,rfr

*Pqq r 2

I v"2= I6

[Tum over

2

2

04/c-x
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(B)

rlrfr-rt

t7. Tf{ * q4 EE fr, * fiErr * qrq-re fr :o nr fr 6i q-r t, qjw'* Bns{ mr $q'ffr xlr{ 30"t I ,illTr

4fr fu srn dl&q l

rB. *rrioilttht, OACB *r O:fftFrq,I 3.5cnr qr&wqlsrqgqi$BrqEOD=?crn *,fr

ffi&c * frqsn srrd frfrq

(i) e-gui* oACB

iii) urqiffir qr.l

19. Arg Seq fu gn, * qit'm qfi qgp di $Tqt-qTqt m g.;rr( *a q-E Wr fr"r airiRn mir t r +

sTEET

q6 F{gq ABC ffiirsr dq C qq-dq t, fi gwrafr CA itr{ CB qr *qeJ: F( D 3fu{ E Pero t r

fr{g d&q ft , AE: +BD: =AB: +DE' tl 4

20. qmffirrm?€t q +qF,Fr':inatfs t qrq ffiqqq *dqrqlq:o trqR gflfr qFI'd t Z e'it

srftr6 s*"r.aiffi { 3 efq qq fi"& *4, fr uq'* sffi sr Urrqw 2I0 *nTrwr* am *ii frHqi q

srw ffi,q qs flK frfrq t

zt. AACB dBq kflfir *q C Eqd,r ? frrflq AB=2e M, BC=21 {sd eftt IABC=0

iekq iTrcB) * fr sinr 0 + cos'0 ry,r qq rro difqq r

4

04/c-x
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(e)

31?iql

R*s qfifda. ft :

I + secA sirr: A \=ffi'Eiq A qt*"rtr

22. w A.P. fr :o q-q $, &Irqr *-crtr q-q l? t '3f{ aihq qE

23. qft n et"r B mqeT, (-2. *?) ert-r tz. -+l fr fr Ctg
1

AP=*en **fr{ P Mg AB qrR<rofrr
I

21, 6 crn h;qr 4r lrr gd dfqq r *E fr l0 crn lt frord !m ffi'S t Xn w uri tql gu afr 1?rTr difqq itr
.T.{qfi, mqt?d grfrq r 4

8 s4:32

qrq-q

2s. frw g.w tfrq ftqq * go ,i6f,q Effi arTI gs ffirq ,aiiniqlq ffi tfr t eflq W "q} 
*

sqrif,r t 
'

ffilq qq T{ crdqrql * *qr
3000 - 4000 4

4000- 5000 l8
s000- 6000 I
6000 - 7000 7

7000 - 8000 6

8000* 9000 3

9000* r0000 1

10000* 1 r000 I

qq ffi sr Egrm s6 frfrq r

qPTqI

Fpifrfufr riffi ffi *d * 59 qffi q? }frtF 0TE cflif,T t ,

tFm snq (6'qd q) t00* 120 I20- 140 I40* 150 160* 180 1E0*?00

qFrm 6 Tiqr t2 t4 8 6 t0

'.sqt-ffi Eifi +? w sq nqtrt' * tffi qnEnflr {Eq q q{frq tfu wrry f,t-iT dfrq t 6

${/C-X ['[urn r:ver

4

106 t r {qehT Zqd qq wro frfrq r 1

P + iqfelfs rro qfiFqq f,rm

4

6
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''-fl

(10)

26. qrfl 3 mi5r W gd r+ nr q8ilEG f,'s dql qrdr t l Wr& fffifi d m* *r W * qrt':tE * nr qi'.S

qs g"dtsr ertr{ (ri$gl q-qrA gq, urrq aq fr fur*{ qm *6K mr dq q"ilqr qrf,r t r {s du * 'u"urq

xrn frftryq r

| ' ,,

q4 qF figice) ffi q1mT'qqt nTd * CI{1fr t ffiiq ffi t 6 har qr r trqffr Pmm qr sTrife

uqrfl-s cm rr[, q-r$ fmrs * Frqe sTrqr (f,-dr) q am sr{I #t s$tm qr, ffi Fmrfi * eirftnr +q

fr qT-ft et r qA tr+ hfirfi * ff l0 cnr *, n} F,nrK{ fr srqildi (apparent) qlf{fri aqr rfl-S ffif,Bfr

Erm ss6 ffiq 1 {n = li. t+ riifu) 6

21. qR ffi ftW * qs Wff sr e{ ,3{-q fr W*il * Tfr * *r * firr{ e fr q-d gqT ffir cry du Hqdur

*di t r ftru dfrq r

sTWIT

ETa B$ t gd rr 6* qt wri tqfsil d M fiFK *'fi Brft's 6frqt 6

2g. qR ffi fq=E + *t$ sft'{ 6"r *fr i 2 *y frsr qtq, a} irs fr * qT"ft Br qB *iel sttq sr Etq] t
3dyHqrrnq,*w * **trqaffiamdreqt 6

0ftrqf

q.fi6r,r x-y+ I =0 e*r 3 x + 2y *I2 =0 isr fis SHqt x-qs dr qq ?qT*t fr qt BT{ *
{fifr + f{tni{ am d&q afir Egqrdr q-*s * $qik d{fq t 6

4x6=24

(English Version)

Note; (i) you nntst u:rift the nth.iett-utele.'papur-codc 0{lC rn the hox pr"ovidecl rsn the ritla

P$ge ot' )'our nnsu'er'hattli'

(ii) ltluke sure thst the an$t,cr-book contilins 26 p*ges (including titlu Ttugc) arul ure

proparly ssriulsd att tt()o,'t ttti yott rcceitta il.
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( ll )

(iiii Ouestitsu,s dtlemprcd a\'ter leutling hlank iTuge s in the ansy,e.r-boak w,oultl not he
eyalualed.

(i\t All guestiorrs w€ compillsoryt,

fit In question (]n tonslruclion, mtrks drutrin$ nc(ttly and exac'tly us per givcn
fiedstirenrtrits using gaonretricul i nstrunwnts.

(tr) l"lse o/'culculutor is nCIt alknred.

(tii) Log ruhlcs csn he had.fittnt the {"(tntre Superintendent"

(t::iii) Question No. l' to I are o/' I mark euch, I to 16 ore aJ'! ffiarts euclr *nd l7 to 24 ure
oJ'1 nrurks each. l;mtm Q- No.25 lo 28 cath quc$tiotl is r{ t5 twarks snd all questions
urevith inlernul droice.thtt of tha"re lhere is internal choice in Oucstittn Numherlg,,
2l,,25r26rZl *trd 28.

(x) Graph poper is uttnchcd y,ith the quet;tion papcr

Part-A

I. Select the corect ansrver in the following:

Arca of a sector of angle p (in degrees) of a circle rvith radius R is :

(a) P x 2nR
180

(c) P x 2nR
360

tb) P * nR'
180

(d) l' * 2nR?
720

2, Which of the following cannot be the probability of an event :

(a) 
3 tt ) *l.s (c) 15% (d) a,7 I

I

I

3.

4.

:|.

6.

Eygry_qqllpglgqlunrber carl be expressed (factorized) as a product of prirnes, (TnrelFalse)

Find the first term a and the conrmon difference d ofA.P: - 5, - I, 3o 7,

Write the formula fur finding volume of a fi'nstum of a coue.

If the area of a triangle ii O rqu*r. urritsi-fren tfrei&ices of a triangle &r"€ r r .-

1,

8.

sin (A+B)=sinA+sinB

A polynomial of degree

(Fill in the blanks) I

(Write Tnre/False) I

(Fill in the blar*s) I

8x [=8

[Turnover04tc*x

is called a linear polynomial

https://brpaper.com


9.

10.

(12)

Part*B

If tange'ts pA and pB fiom a point P to a eircle rvith centre 0 are inclined to each other at angle

of 80o. then find the valne of IPOA 2

A child has a die rvlrose six faces shorv the letters as given belorv :

EtrMHtrE
The die is tlrrown once. What is tlre probability of gettirtg

(i) A?

(ii) D ?

Use Euclid's divisiopalgorithm to find the H'C.F. of 420 and 130'

Solvethepairoflirrearequation2x+3y=llarrd2x*4y=_24.

The rvickets taken by a bowler in l0 cricket matches are as follows :

. .f :.

2 6 410 2l 3 21J)-- -*--
2

Trvo poles of heigSts 6 m and l l m stand on a plaue ground. Ifthe distance betrveen the feet of

the poles is 12 m, frnd the distance between their tops. 2

Find ttre discriminant of the quadratic eqnation 2xr* 6x + 3 = 0. and hence fincl the ttature

of its roots.

Divide the polynomial p (x) = x' - 3x' + 5x * 3

quotient and remainder.

Part-C

17. The a*gle of elevation of the top of a tower:frour a point ou the grotrnd. s'hich is 30 m away fiont

the foot of the tower, is 30o. Filld fhe lreiglrt of the torver' ' ' 4

2

2

ll.

12.

13.

14.

I5,

16.

2

by the polynornial s(*) = xr * ?' Find the

28*2=16

04/c-x
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18.

(t3)

In the given figure, OACB is a quatlrant of a circle

If OD = 2 crn, find tlre area of the

(i) Quadrant OACB

(ii) Shaded region.

with cerrtre O aucl radius 3.5 cnt.

A

D

24.

2I.

Ig. Prove that opposite sides ofn quadrilateral circuntscribing a circle subtend supplernentary angles

at the centre of the circle. 4

or

D and E are points on ttre sides CAand CB respectively of a triangle ABC rlght angled at C.

Prove that : AE: + BD: = AB: + DE: 4

Lr a class test, the sum of Shefali's rnar*s in Mathematics and English is 30. Had she got 2 marks

more in lvtathematics and 3 marks less in Englislr, the prciduct oftheir marks would have been

210. Find her marks in thi two subjects. 4

Consider AACB , right-angled at'C" in which AB = 29 units, BC = 2 I units and ZABC = 0

(see figure). Detemrine the value of sin3 0 + cosr 0 .

czl
or

Prove that :

l+secA sin: A
=#secA l*cosA

0"{/c-x

4, angle Ais an acute angle.

[Turuover
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(t4)

22, An A.P. consists of 50 terms of which Srd term is 12 and the last term is 106.

Find the 29th tenn. 4

23, IfA and B are (1, -2) and (2, *4), respectively, find the coordinate s of P snch that
a

AP = i AB and Plies on the line segmentAB. 4'

24, Draw a circle of radius 6 cm. Frorn a point l0 cm away from its centre, ccnstrttct the pair of

tangents to the circle atrd neasure their len$hs. 4

$ x;[=i 7

Part-D

25. The given distribntion shows the nurnber of runs scored by sorne top batsnren oflthe world irt

one-day international cricket matches.

Runs scored Number of batsmen

3000*4000 4

4000-5000 l8
5000-6000 I
6000- 7000 7

?000-8000 6

8000-9000 3

9000- 10000 I
10000- I 1000 I

Find.the mode ofthe data.

or

The following distribution gives the daily income of 50 workers of a factory.

Daily Income (in Rs.) 100- r20 120-140 140- 160 t60* 180 r80*200

No. ofworkers t2 r4 I 6 l0

Convefi the distribution above to a less than type curnulative freqtrency distribution. and

6draw its ogrc.

04lc*x
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27.

( 15)

26. A well of diameter 3 m is dug 14 m cleep. The earth taken ont of it has been spreacl evenly all

arouud it in the slrape of a circular ring of rvidth 4 nr to fonrr an embanklrrent. Fincl the height of

the embankment.

or

A juice seller rvas sercing his customers using glasses as shown in figure. The inner diameter of
the cylindrical glass was 5 cnt, but the bottorn of the glass had a henrispkerical raised portiou

which reduced the capacity of the glass.If the heightof the glass was I0 cm. find the apparelt

capacity ofthe glass and its actual capacity. (use n = 3, 14) 6

In a triangle, if square of one side is equal to tlre sunr of the squarcs of the,other two sides, ttrren

tlrearrgleoppositetlrefirstsideisariglrtangle.Provgit.

or ;1 '.'',..

The lengths of the tangents drurvn from an exterxfil point to a circle are equal. Prove it. 6

A fraction becomes fr, mis added to botlr the numerator and the denominator. If, 3 is aclded

to both the nmnerator ancl the denominator it becomes f . fin.f the fraction.' 6

or

Drarvthegraphsoftheequationsx-y+l=0and3x+2 y-12=0.Detennine&ecoordfuates

of the veftices of the triangle fonned by these lines and the x-axis, and sh*de the triaugutrar

re$oll. 6

4x{t*24

04lc-x {lincl. {.irtrph P*y*r
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